| total events O=anyInput 8=anyAccept |

Entries

y: rate (Hz)

Mean

‘IRMS

61609

1.781

2.615

| L2 time used per input event

6000

4000

2000

0 50

=" T T T T AR SRR Mean

Entries 244137

66.17

11.73

vt v v v by v v by vy b by

100 150 200 250 300 350

400

x: time (CPU kTics)

0 1 2 3 4 6 7 8 9
Input: 1=btow, 2=etaw  Accept: 4=onelet, 5=diJet, 6=rnd
rate of input events Entries 48700
F Mean 761.6
40F RMS 406.7
35 TN Nl oot
30 TSt ST R
25 e
20 R Ris] LSIEPEPRNN SR
15 R Ris] LSIEPEPRNN SR
10 R Ris] LSIEPEPRNN SR
5 R aiaitd E T
0 1 1 1 i 1 1 i 1 I 1 1 1 1 I 1 1 1 1
0 500 1000 1500 2000 2500

X: time in this run (seconds)

4ccpet rate blue:monoJet, red:diJet, black:randord Entries 3465
~ Mean 758.8
I
o RMS  404.6
g :
= e o] LiETTTTrr T S

. ; o
; 1 '
] 1 d L] i
[ II i Ty l.l
R TR HTH P N I
0 500 1000 1500 2000 2500

X: time in this run (seconds)




BTOW tower, Et>2.0 GeV (input)

soft=1+

x: BTOW softiD.

soft=801+

500
x: BTOW softiD.

o
Xx: BTOW softiD.

o
x: BTOW softiD.

o
Xx: BTOW softiD.

soﬁ:4001¥:

o
X: BTOW softiD.



ETOW tower, Et>2.0 Gev (input)

crate=1

crate=2"

x: i=chan+128*crate

crate=3"

x: i=chan+128*crate

crate=4"

0

x: i=chan+128*crate

crate=5b"

x: i=chan+128*crate

crate=6

=chan+128+crate




BTOW tower, Et>2.0 GeV (input)

N
)

RP~Sectop
o
o

y; phi bi

o

0 3 10 15 20 2

30

Entries 16477

HI Il

35 40

X: eta bin, [-1,+1]

4 6 8 10 12

x: 12 - Endcap etaBin ,[+1,+2]



Et Jetl-Jet2 (input [Entries 48700 | diJetl eta-phi (input
(inp )| | = bhi (inp )|BTOW-West Endcap
> 12 4000 . St ,
= 3
5o 3500 &
10l S 5000 0 R,
5 =
- 3000 < -
B > 50 N
2500
[ SR N 2000 1|
1500
4 ...........
1000
2 ............
0 0 0
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl Et/GeV x: iEta [-1,+2]
diJet phil-phi2 (input [Enies _48700]  Idjjet2 e input
| 20 phi1-phi2 (input)| | s : (p )|BTOW-West Endcap
5 § - 250
g 250 O
U 25 L 25 T B
o =
= o
[a -
= 00 200 %
" __ilSO __________
10 100 o

50

5 10 15 20 25 30
x: iPhil ~sector

6 8 10 12 14
X: iEta [-1,+2]



Jetl Et (input) Entries 48700 Jet2 Et (input) Entries 48700
—|Mean 5.261 —|Mean 2.286
:|[RMS 1.973 RMS 1.242

104

103 oL USRS ARSI SRRSO SURURURI e

102 oo e R S SR S S

1 ----------------------------------------------------------------------------------------------------
=50 =50
x: Et (GeV) x: Et (GeV)
| #BTOW towers>ped+8 (input) | Entries 48700 total Et (input) Entries 48700
_ T T T T T T T T Mean 32.46 E Mean 18.49
1400~ LA e b e e HHRRIR i...|RMS 14.06 = {{RMS 5.163
r : : : : : : : : : 3 B ’
1200 - 10
1000 -
102
800
600 =+ f b R e s
10
400
200 et e
o i i [P PPN AP AR B H
0 20 20 ) 80 100 120 140 160 180 200 0 10 20 30 20 50 )
x: # of towers/event x: Et (GeV)
# ETOW towers>ped+8 (input) | Entries 48700
1600 T T T T T T T T Mean 19.42
C : : : : : : : RMS 11.05
1400 — :
1200 [
10005
e S Rt s SO S
L
400 F—------ CRTEPIRLE: CEPEPEPEFIPEPES
200 —
N =R D D D T | i i i
0 10 20 30 20 50 50 70 80 50 100

x: # of towers/event



one-Jet Et (accepted) |

Entries 3465

pted)

0 10 20 30 40 50
X: jet Et (GeV)

one-Jet eta-phi (acce

y: iPhi ~sector

otow-West| Endcap

2 4 6 8 10 12 14
x: iEta [-1,+2]

Entries 3465

Entries 3465

80

70

60

50

40

30

20

240 e P ;—
220f b [
00t
% U A TS Y0 1
160: N N N N N

140F
120F
100
80F
60F
wf-
20F

0 1 1 1 1 i 1 11 1 i 1 1 11 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1

0 5 10 15 20 25 30
x: iPhi ~sector

450

400

350

300

250

200

150

100

50

0

Entries 3465

2 4 6 8 10 12 14
x: iEta [-1,+2]



|Et of Jetl vs. Jet2 (accepted)] [Envies  3164]  IdjJetl eta-phi (accepted)]
= otoW-West| Endcap

S 12 : : . ; , 350 _ 30 pmma c
TR 5 5 5 5 5 S
O] L : : : : ; I ) 45
S L 5 5 5 5 o
8 10— R MSIEIEIIERS beeeee e 300 ¥ o5 40
: : : : <
[ : : : o
: : : 250 4 35
] R A - > 20
i i i 30
i : : izoo
] E— U 15 25
i : : —150 20
| ST S 10
100 15
10
2_ .........................................
i 5
O 1 1 1 | 1 1 1 | O
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
diJet phil-phi2 (accepted [Entries 3164 | diJet2 eta-phi (accepted Entries 3164
| p p ( p )| | ~ p_ b )|'\/-West Endcap

20

16

30

y: iPhi ~sector

25 14

12

.................

0 5 10 15 20 25 30 0 2 4 6 8 10 12 14
x: iPhil ~sector X: iEta [-1,+2]



|diJet Et (accepted)|

10

[EEN
T

:Mean 8
+{RMS 2

Entries 3164
.098
.599

|

[EPETTERTEL LES LRY LS LT S0

Tl Tl el L

o

30 40 50

60
x: Et (GeV)

200

3164

8.913

3.951

--- Low Et jet

|diJet eta (accepted)| Entries
—Mean
BOOR— -+ rsrhesesnsnandessssns b -

- RMS
T -
10| SR SO i ) N o

B —High Etjet [% |

100

0 2 4 6 8

10 12 14
x: i Eta[-1,+2]

160

140

120

100

80

60

40—

20—

—|Mean
.JRMS 8

Entries 3164

14.7

.853

...................

it [
— High Et jet
--- Low Et jet
""" RE‘b"Jé‘t‘l‘l‘;—:T'S"G'RfE‘EN"J'ét'z'ET"'E"""""""

0

5 10 15 20 25 30
x: iPhi ~sector

|diJet delZeta (accepted)|

Entries

350

300

250

200

150

100—

50

- : : : : —|Mean
RMS

3164

31.02
5.604

.....................................................................................

-l I 1

30 40 50 60

x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted) |

Entries

y: delta zeta (rad*10)

60

50

40

Mean x

Mean

R

2 4 6 8 10 12 14
x: iEtal [-1,+2]

|diJet delZeta vs. avrPhi (accepted)|

10
0

Entries

x: iEta2 [-1,+2]

Fxlean X
9 eany

10

12 14
x: iEtal [-1,+2]

Entries

y: delta zeta (rad*10)

Mean x

Mean y

3164
14.59
31.02

............................

.................................................

e

—30

—25

—15

10

1O

5 10 15 20 25
x: (iphil+iphi2)/2 (12 deg/bin)

30

|total Et diJet (accepted)]

3164
8.913

8.13

250

200

150

100

50

:|Mean

Entries 3164

22.14

20 30 40 50 60

x: Et (GeV)



s 12

Jet2/Ge

10

|Et of Jetl vs. Jet2 (accepted EE)| Entries 622 |diJetl eta-phi (accepted EE)| Entries 622
RTO\/\I F.’—'le D TOUvVV-vVvVE Endcap
200 _ 30[ : : e
L ‘g - - 14
180 ) C O -
e, S N UOTUOOS VNN AU OO SO .
—160 = F 12
L o C
140 P 0l 10
120 -
- 8
100 L] RCIs JOt] SN SRSRRERE SRR
80 - 6
0 s N
60 -
C 4
40 S OO VRS SN (SO SOOI SOV
20 . : : 2
O 0 C 11 ) | 111 | 1 1 | [ | 111 O
0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl/GeV x: iEta [-1,+2]
Entries 622 [diJet2 eta-phi (accepted_ EE)|

30

y: iPhi2 ~sector
N
(82

0 5

25 30
x: iPhil ~sector

y: iPhi ~sector

DTOvVV-vVve

30— BTOWLEasT

N
(&2}

20

15

10

0 1 1 1 i 11 1 i 1

0 2 4

6 8 10 12 14
X: iEta [-1,+2]



|diJet Et (accepted EE)| Entries 622
T |Mean 5.212

10

!--I

-l

T

i

‘IRMS  0.9501

— H|gh Etjet
--- Low Et jet

.......................................................................

o

50 60
x: Et (GeV)

|diJet eta (accepted_EE)| Entries 622
D = U U SOU SOV S Mean 12.94
SN NS SO SO S S N e 128
71010| RSO OSSOSO SO SRR SRS SO SRS
0 R T SETIITR I SRS SRS I
1)) SRS SO SRS SO SO R T T
A0 —HighEtjet | ¢ LT

120
100
80
60
40
20

0 2 4 6 8

..................................................

..................................................

--- Low Et jet
: : i

12 14
x: i Eta[-1,+2]

|diJet phi (accepted EE)| Entries 622

C |Mean 14.3

A0peroeees I prod ‘IRMs  8.822
= B : : : :

35— R LEs IR T e TR P TEE S PR PR RP SRR PSR TPERSRRRS
C !
C [N

30 L S TS U

25

20

15

10

:—ngh Etjet
--- Low Et jet

5 10 15 20 25 30
x: iPhi ~sector

|diJet delZeta (accepted EE)|

Entries

50

40

30

20

10

Mean
RMS

622
31.6
7.919

...............................................................................

- AZ=phi(31,32)

20 30 40 50 60
x: delta zeta (rad*10)




|diJet delZeta vs. etal (accepted EE) |

Entries
Mean x

y: delta zeta (rad*10)

60

50

40

30

20

10

0

Mean

0

2 4 6 8 10 12 14
x: iEtal [-1,+2]

622
12.94
31.6

|diJet eta2 vs. etal (accepted_EE)|

Entries

14

12

x: iEta2 [-1,+2]

1N
O

ean X

Endca

eany

[ee]

0 2 4 6 8

622
12.94
13.12

20

1 1 1 i 1 1 1 i 1
12 14
x: iEtal [-1,+2]

10

diJet delZeta vs. avrPhi (accepted_EE) |

Entries

y: delta zeta (rad*10)

Mean x

Mean y

622
14.16
31.6

...................

1O

5 10 15 20 25
x: (iphil+iphi2)/2 (12 deg/bin)

30

|tota|

10

Et diJet (accepted_EE)|

Entries

70

60

50

40

30

20

10

0 10

17.47

622

:|Mean

o 1 I 1 1 11 I 1 1 1 1

40 50 60
x: Et (GeV)

20 30



Entries

|Et of Jetl vs. Jet2 (accepted_EB)|

s 12
)

Jet2/G

-

10
x: Jetl/GeV

12

640

180

160

140

120

100

80

60

40

20

0

diJetl eta-phi (accepted EB Entries
| 30 RT(?\/\I-FS‘th le\_Tvv-v)v|eSt Endcap

..........................................

y: iPhi ~sector

.........................

15

10

..............................

Olllilllilli
2 4 6 8

o

12

14
x: iEta [-1,+2]

Entries

30

N
¢

y: iPhi2 ~sector

20

15

10— [

i |

B B BN mut e
B : |
0_||||i|||£|_-| ||i||||i||||

0 5 10 20 25

x: iPhil ~sector

640

30

diJet2 eta-phi (accepted EB Entries
| 30 RT(E)\/\I_I:ng leu_vv-v)v|eSt| Endcap

5] 5 : : :

®

7]

AP R SORRRRRRRNS WOUE M 5

3

=

20

15

JO e rrr e e T - = = = r ey

0 1 1 1 i 11 1 i 1 1 i 1 1 1 l 1 1 1
2 4 6 8

o

12
X: iEta [-1,+2]

14

640

640




|diJet Et (accepted EB)| Entries
I S SO SO AU r|Mean

10°

10

640
7.561
1.592

BRI " High ELjet  |edeen

--- Low Et jet

ol Rl Tl el Sl ek e e ke Sl ekt Tl el it sl e Sl e il

20 30 40
x: Et (GeV)

50 60

|diJet eta (accepted EB) |

Entries

160

140

120

100

80

60

40

20

Mean

640

11.31
1.618

..|RMS

» — High Et jet i
: ; --- Low Et jet

0 2 4 6 8

10 12 14
x: i Eta[-1,+2]

Entries

25

20

15

10

SR S SRS SR S

—|Mean
:|RMS

640
14.94
8.683

Enii

" High Et jet

---Low Etjet |
. I
RED Jetl ET > GREEN Jet2 ET

o

5 10 15 20 25 3
x: iPhi ~sector

0

Entries

Mean

640

31.22
5.676

RMS

........................................

................................................................................

o I N | I 1

30 40 50 60

x: delta zeta (rad*10)




Entries
Mean x
Mean y

|diJet delZeta vs. etal (accepted_EB)|

640
11.31
31.22

60

50

40

y: delta zeta (rad*10)

30

20

10

0IllillliIllilllilllilllilllil

0 2 4 6 8 10 12 14
x: iEtal [-1,+2]

Entries 640

14

12

x: iEta2 [-1,+2]

15N
O

[ee]

0 2 4 6 8

11.31
10.92 J

Mean x
eany

10 12 14

x: iEtal [-1,+2]

Entries
Mean x
Mean y

diJet delZeta vs. avrPhi (accepted_EB) |

640
14.66
31.22

y: delta zeta (rad*10)

1O 5 10 15 20 25
x: (iphil+iphi2)/2 (12 deg/bin)

8

30

|tota|

Entries

60

50

40

30

20

10

Et diJet (accepted_EB)|

:|Mean

640

20.73

..................................................................................

.................................................................................

IJ_I_| 1 i 1 1 11 i 1 1 1 1

20 30 40 50

60

x: Et (GeV)



[Et of Jetl vs. Jet2 (accepted_BB)| [Enwies 2192] |djJet] eta-phi (accepted_BB)
» DTovv=vvest Endcap

S 12 : : . . , 350 2
@ E E E E E S
SO 5
N . H H N [}
8 20[ b CHEEE ™ ™
. . . . =
- a
R N S 250 o
6_ .....................................................
4— --------------------------------------------------
b e T T T e R P TR R RE Tt PEPRT PR PR
0 1 1 1 | 1 1 1 | 1 1 1 | 1

0 2 4 6 8 10 12 0 2 4 6 8 10 12 14
x: Jetl/GeV X

|diJet phil-phi2 (accepted BB)| [Enties 2102] |djJet2 eta-phi (accepted_BB) Entries 2192
DT\ D Tovv=-vvest Endcap

_ 30 B 3 TOW-EZ 20
O Ead

8 g I18
25 P oo e

o £ 16
5 <

5 20 > 14

12

15

/i T SN S S
N T R

N ]
O_I 1 1 1 i 1 1 1 1 i

0 5 10 20 25

0 2 4 6 8 10 12 14
x: iPhil ~sector X: iEta [-1,+2]



|diJet Et (accepted BB) |

-mn

—|Mean

Entries 2192
9.114

ZIRMS

2.397

“[—High Et jet
“l--- Low Et jet

o e Tllle Ll

50
x: Et (GeV)

60

|diJet eta

(accepted BB)|

250

200

150

100

50

o

Entries 2192
7.406

3.753

r : : Mean
[ e SRS ~“|RMS
I S R [—HighEtjet ||
E_l— ---LowEtjet |_

IIIiIIIilIIiIIIiIIIiIIIiIIIT-I-

2 4 6 8 10 12 14
x: i Eta[-1,+2]

100

80

120 AE——

—|Mean
:|RMS

......

Entries 2192
14.76

8.86

{——High Et jet

60 J|--- Low Et jet

Te) e e,

Y] R S proeeeee i

- RED Jetl ET > GREEN Jét2 ET

0 5 10 15 20

25
x: iPhi ~sector

30

|diJet delZeta (accepted BB)]

Entries

250

200

150

100

50

0 10

Mean

2192
30.8
4.611

RMS

AT=phi(31,32) *[sign(K %S, )

i—|_l_l_l 1 il

20 30 40 50 60

x: delta zeta (rad*10)




Mean x  7.406
Mean 30.8

|diJet delZeta vs. etal (accepted BB)] Entries 2192 |diJet eta2 vs. etal (a Entries 2192

ean x  7.406
dcamean Yy  6.293

60

50

x: iEta2 [-1,+2]

40

y: delta zeta (rad*10)

0 T | | T | | T | | 111 | 11 | 11 | 111 | 1 O
0 2 4 6 8 10 12 14 0 2 4 6 8 10 12 14
x: iEtal [-1,+2] x: iEtal [-1,+2]

diJet delZeta vs. avrPhi (accepted_BB) | l\EA”eg:]ei 12413; |total Et diJet (accepted_BB)| Entries 2192

S EEEE Y s Meany 308 o
: 180

:|Mean 23.79

160 [ ] S S T

I e —

y: delta zeta (rad*10)

120F b B

e E I i S e

S - R — —

A | e

40 T S — R A — —

e e e e

1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 i 1 1 1 1 O O C 1 1 1 1 i 1 1 1 i 1 1 1 1 i 1 1 1 1 . i 1 1 1 1
1O 5 10 15 20 25 30 0 10 20 30 40 50 60
x: (iphil+iphi2)/2 (12 deg/bin) x: Et (GeV)



